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(3 Hours) * . Total Marks: 80
N.B. 1) Question no.1 is compulsory .
2) Solve any Three questions from remaining five.
3) Assume suitable data wherever required i ik 3 . ,- *,:
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a) Compare and contrast between thread and process . K- ““;;
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b) What is system call? Explain any four systemcalls ~ ~ £ -
c) Explain internal & external ﬁagn:;p@-;an_-a TRt Sagr
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e) Write short note on F 11@1%::333 methcds '5? ” Gl

Q.2 a) What are the four cﬂnchtmns that create deaﬂ\lcf&k? Explam dead lﬂck prevention

and avoidance techmques AN R
o : : __5' 5‘, ﬁ"*

b) Draw and Explaln vanﬂus states nfpméwwﬁ th"e help qf state transition diagram.
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Q.3 a) Calculate the Hit and faults usuag FiED Opumal and LRU page replacement

policies. for th& fﬂltowmg page s&qqgnﬁe (2 3,5 4 2,5,7,3,8,7) assume page frame
size is. 3 ; i 8
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b) What is semaphﬂre‘? Expmn dfﬁgrent types'. of the semaphores,
Q4 a) Explam Dhjﬁctwes aed ﬁmyg‘ns nf DS

_ b) ’What 1& scheduk‘ﬂ@ GNE‘ dlfferant schedulmg policies and their comparison.
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Q.5 -a}_.* What is myﬂaﬂ‘?"ﬁ@lam user Ievel and kernel level thread.

:b): : %at{;s pggmg? Explam huw Iaglcal address converted into physical address.
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g ﬂ:)‘« Prnducer mnsumer problem
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D, Yoy -d:} _- Inte_r. pmaqss communication

¢) Process control Block
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